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SU m m ary See complete responses Paper-I Code W

Question 1
Option G [137]
— Diption O [15]
Option A [36]
Option B [33]
Question 2
— DOption C [20]
— Option D' [32]
Option B [82]

Option A [48]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

48
82
20
32

17%
29%

7%
11%

13%
12%
49%

5%



Question 3

Option C[41]

Option B [43f

Question 4

Option C [43]—

Cption B j371—

— Oplion D [54]

Option A [30]

— Option D [34]

Option A [50]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

30
43
41
54

50
37
43
34

11%
15%
15%
19%

18%
13%
15%
12%



Question 5

—— Option D [80]

Option C [20]—

Wy Option A [31]
-

Opticn B [27]

Question 6

— Oplion D [92]

Option C [38] Option A [32]

Option B [26]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

31
27
30
80

32
26
38
92

11%
10%
11%
28%

11%

9%
14%
33%



Question 7

Option C [141] s
— Opiion D [12]

Opton A [20]

Cpticn B [186]

Question 8

——Opiion G [23]

— Opticn D [18]

‘Dp!iﬂn A17]

Cption B [136]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

7%
6%
50%
4%

6%
48%
8%
6%



Question 9

Option C [48]

Option B [26]

—{pticn D [14]

Cption A [959]

Question 10

~— Ophon D [47]

Option C [66]—

B— Option A [25]

Opticn B [43] ————

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

99
26
48

25
43
66
47

35%
9%
17%
5%

9%
15%
23%
17%



Question 11

Option C [43] ————————

— Opticn D [14]

Option B [42]

Option A [40]

Question 12

Opfion B [22] Option C [33]

— Option O [18]

Option A [108]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

40
42
43

109

14%
15%
15%

5%

39%
8%
12%
6%



Question 13

Option B [65]

Question 14

Option C [62] —

Option B [38] ————

Option C [29]

— Opticn D [23]

Option A [56]

— Option D [45]

Option A j29]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

56
65
29
23

29
38
62
45

20%
23%
10%

8%

10%
14%
22%
16%



Question 15

Option C [48]

— Opiicn D [32]

Option A [25]

Oplicn B [72]

Question 16

Ciption G [55] —————

— Opiion D [13]

Oplion B [24i—

QOpticn A [58]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

25
72
48
32

58
24
55

9%
26%
17%
11%

21%
9%
20%
5%



Question 17

Option C B3] —————,

— Opticn D [186]

Opticn B [64] Opticn A [36]

Question 18

DOption C [24]

— Option D [23]
Opliion B [50]

Option A [54]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

36
64
53

54
50
24
23

13%
23%
19%

6%

19%
18%
9%
8%



Question 19

— Opfion D [34]
Option C [87]

Opton A [18]

Option B {37]

Question 20

Ciption G [26] ——————,

~——QOption D [31]

Opticn B [47]

Option A [56]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

37
87
34

56
47
26
31

7%
13%
31%
12%

20%
17%

9%
11%



Question 21

Opticn C [30]
— Option D [33]
Opton B [38]—
Option A [53]
Question 22

Option C 31—

—Dplion I [25]

I y
g

Option B [42]—— "—— option A [29]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

53
38
30
33

29
42
31
25

19%
14%
11%
12%

10%
15%
11%

9%



Question 23

g ———— Option C [39]

— Option D [13]

Opticn A [BE6]

Question 24

Opticn C [39] —— Dption D [38]

Opticn B [39]
Option A [45]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

86
27
39

45
39
39
38

31%
10%
14%

5%

16%
14%
14%
14%



Question 25

“— Opticn D [29]
Option C [119]

Opticn A [18]

Option B [21]

Question 26

— Oplhon C [16]

—— Oplton D [31]

Option B [114] Opticn A [25]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

6%
7%
42%
10%

9%
41%
6%
11%



Question 27

Option C [15]

— Opticn D [19]
Opticn B [132]

Opticn A [249]

Question 28

— Opticn D [35]
QOplien C [B5] —

-
| y
\ 4
W _';:'f"—Dp?iDn AJ31]

ol

Option B [24] ——————

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

31
24
65
35

10%
47%
5%
7%

11%

9%
23%
12%



Question 29

Option A [14]

Optien B [18]

Question 30

Option G [61] S
—— Opion

Option A [35]
Option B [30]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

35
30
61
27

5%
6%
52%
5%

12%
11%
22%
10%



Question 31

Option C [23]
Option B [23]—
Question 32

Option C [95] ——

Option B [35]——————

Opton D [47]

Option A [BE]

— Opticn D [19]
i

r—— Option A [39]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

88
23
23
47

39
35
95

31%
8%
8%

17%

14%
12%
34%

7%



Question 33

Option C [27] Option D [58]

Option B [55]
Cption A [54]

Question 34

— Option D [58]

Option C [43]—

y——{ption A [36]

Option B [37]——

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

54
55
27
58

36
37
49
58

19%
20%
10%
21%

13%
13%
17%
21%



Question 35

Option C [53]—

Cption B [36]

Question 36

Oplion B [28]

Opticn A [109]

~— Opticn D [31]

Option A §32]

Option G [36]

— Opticn D [12]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

32
36
53
31

109
29
36

11%
13%
19%
11%

39%
10%
13%

4%



Question 37

Opticn C [15]

Opticn B [73]

Question 38

Option G [56] —

Option B [37]———

Opticn D [53]

Option A [41]

— Opticn D [15]

Option A [35]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

41
73

53

35
37
56

15%
26%

5%
19%

12%
13%
20%

5%



Question 39

Option C [44]

— Option D [38]

Opfion A [30]
Cption B [76]

Question 40

Option C [46] ——

— Option D [23]

Option B j24]—

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

30
76
44
38

51
24
46
23

11%
27%
16%
14%

18%
9%
16%
8%



Question 41

—Option D [71]

Option C [20]——<8

Opticn B j34]

Option A [60]

Question 42

— Oplion D [79]

Option C [31]

Option A [45]
Option B [25]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

60
34
20
71

45
29
31
79

21%
12%

7%
25%

16%
10%
11%
28%



Question 43

Option D [128] )
Option A [12]
Opiion B [25]
Cption G [14]
Question 44

Option C [127] — Option D [16]
—_— i 1

‘ Opticn A [15]

——{Opficn B [26]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

4%
9%
5%
46%

5%
9%
45%
6%



Question 45

Option C [63]
—Opticn D [7]

Option A [21]

Option B [86]

Question 46

Option D [112)]————

‘Ophnn AJ18]

\— # :n’ ;
Option C 32— Option B [229

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

21
86
63

7

112

7%
31%
22%

2%

6%
8%
11%
40%



Question 47

— Option D [B3]

[ .
Option C [19]—

Option B [25]
ption B [25] Opficn A [56]

Question 48

Option D [51]

Opticn C [40]

Option A [35]
Opticn B [47]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

56
25

83

35
47
40
51

20%
9%
7%

30%

12%
17%
14%
18%



Question 49

Cption B [33]

—Oplion G [17]
— Diption O [20]
Option A [110f
Question 50
Dption C [42]
—Opticn D [17]
Opticn B [54] — X

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

110

50
54
42

39%
12%
6%

7%

18%
19%
15%

6%



Question 51

Option G [41]

Option B [54]

Question 52

Option O 108 —————

Option C [28]————

— Option D [31]

Opticn A [24]

‘opamn A[16]

——{0pticn B [22]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

24
54
41
31

108

9%
19%
15%
11%

6%
8%
10%
38%



Question 53

Option C [20] — el

Option B (20}

Question 54

Option C [40]

Option B [58]

— Oplion D [43]

Option A [81]

— Ophon D [20]

Option A [40]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

81
20
20
43

40
58
40
20

29%
7%
7%

15%

14%
21%
14%

7%



Question 55

Option B [24]

Option A [115]

Question 56

Opton A [122]

Option G [24]

— Opticn D [18]

— Option B [22]

— Qption C [18]

— Option D [10]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

41%
9%
7%
6%

43%
8%
6%
4%



Question 57

Opticn C [19]
— QOpticn D [7]

Option B [133} Option A [13]

Question 58

Option C [118}—

— Option D [9]

—~—

—

S — Opficn A [12]

-

———Dption B j30]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

13 5%
133 47%
19 7%
7 2%
12 4%
30 11%
116 41%
9 3%



Question 59

Option C [19]—§

Cption B [29]

Question 60

Cption D [108] —

Option C [28]

———— Option D [84]

Opton A [39]

Option A [34]

Option B [14]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

39
29

84

14%
10%

7%
30%

12%
5%
9%

38%



